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GRADE 12 ESSENTIAL
Name:

WEEKLY QUIZ 23 -04 - 20 \
Date:

NOT OPEN BOOK
Use a doubled — sided study notes (cheat sheet) to its full effect. Yours

and or mine.
Each individual question 1s worth 2 marks each unless otherwise

indicated
Formulae and tables have been provided
There i1s a time limit of ~45 minutes on this quiz.

MULTIPLE CHOICE (Select the one best or closest answer)
(2 marks each; no need to show work for Multiple Choice)



Formulae:

£ Fe vl seed

Final New Vehicle Price =
(Dealer price after eco fees, freight, options, etc — Trade in)* tax factor + BFK:\ 4,(
me

Exponential Decay (depreciation) of a car’s value:
Final Value = Original Value * (1 - annual depreciation rate)years.

Original Value does not include taxes. Eg: $30,000 * 0.85" = $4267 .25
for 15% depreciation after 12 yr.

Overall Cost of Financed Car = Total Loan Payments + Down Payment

Interest Paid = Total Loan Payments Paid Back — Amount Borrowed

Mean. X = % sum up all the data and dvide by the data set size, n

LWt wfotxgwfitid) _Z_r._f._
(Wf14wf2twfatt+) Y

Median, X. Line data up inascending order, find the data value at the middle place.

Middle place ==, Eg: n= 17 data » middle plac is the 9" place. With 20 data —» middie
place is the mean between the 10" and 11" place, value in 10 and a ‘halfth’ place.

Weighted Mean:

B+1/,E
Percentile Rank. PR = —;&- + 100;round up!; where B is the number of scores below, E is the
number equal; and N is the total number.



1. The daily high temperatures this week, in °C, were {2: 7; 8; 3; 9; 16; 0}.
The mean daily high temperature for the week was:
a. 7°C  W45°C

o ? @ d. 7.59°C

A cen rs.l vnlue
2. The measure of central tendency that i1s generally most affected by

outliers is:

a. mode b. mean c. median d.its TDSR

(D < = é;c (.1+'++ 8;‘3+°|+l£:.+o) :'L - (. 43

@ Outlievs dend Lo «fect the mean most.

2R "




3. Problem Solve. The sum of all the counting numbers from 1 to 32 is:

)X a3 b. 321 © ¢ 320

(+24+3+Y% 444 elitrs 9~C\+30+3|+3l=? e
[ 23 T TR
33 A

22 ‘L@

3%_ wv oo

'Ete . - m n

FG s |"IUI.4J mGon %—SS - ‘_\-

|6 thivhy threes l'-
23416+ 5§23 :

1+2+3+445+6+7+84] =
S+10+11+12+13+14] 7
+10+16+17+18+19+
28+21+22423+24+2 C 2
DH2E+IZT+2E+29+30

+31+32
928



4. Problem Solve. If four chairs plus a table cost $420 and six of the

same chairs plus the same table costs $580. Then the tables costs:
[Hint: just check each answer see which one works]

a. $80 b. $100 c. $105 d. $145 l
GL/IESS a..nC/t C«LEch? No need ﬁ'o C(')'-‘tf,“)‘) "
LJe gdve 'abb\ -pubur cPtLUhsl, Fust Clqe,c,h
éu See MLL}GL\ wovhs o
Toble }@kmlv- H-Clgovs + 1able f_f__l.i,;,_ Gé:i\ﬁi.,_,

%0?: 350 =_$35" é"‘f'g-o SO% - 580
X 7 b33

)
/oo_? 3ol = S0each 20 40/ = 590
\/ Lk + 74 fé/o 3

($100 FORTHE TABLE AND $80 FOREACH CHAIR WORKS




est 0.01 unless othe
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1. Calculate the sample size, n; the sum of the data, ) x; the mean, X;

the median, X; the Mode, and the Range of the two given sets of data
below: [individual questions are worth 1 mark each]

a. {3 4 9 7 2 7} The ages in years, of your nephews and

nieces p S q.ol;\\ ‘en " M
R é Zx: 3L 3&- X = g:%’-’”-&l:
¥=_ 5 53_&- Mode = q’ L Range: ?La,\-

h'—é S:.'.'-Lt'.o‘p Su-\plg ov et set
i X = 3-I-'+-I-°i+'-l-t3.+?=31|.av

X =

N

—r\ (&t 1 1,5 Want the value
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’ orf
maafea cs Hc e

,&n??: Xy =X mr.h'q_;lz_'?'



omeé.

b. {32, 2, 2, 2, 2, 2, 3, 4, 4, 4, 5, 5, @ 4, 2, 18} The data Is ages

1 ] ] ]

(years) for children and workers at a day chre.
l (- adol therm &Ill-uP MQ“

n= 16 P""F‘e DI = eﬂ' i}r g.bg%
X= 5‘3}- Mode = 9\%"‘ Range: >0 L
X = 5" q’ = .06as ¥ .06,

medu&h
(6+1)A = B5ylace Bth S

(41,,.*%) "D place  Place Om G ”

mgafe : msfﬂeguen‘f: ol
raml&: Ko  Pri= 20-2.= 0 L;lr-

od
P f\ﬁ\h i, 65,018,
N )E‘"‘ J_l?‘v'g



FYIl. There exist apps and websites that do this
stuff too! But we have to do it the pencil and
paper way with a calculator

Eg 1123_12,4&_55

------
P e

a=[32,2222234.445506.42,18]

a = 16 element list

stats(a)
Min 2
Y e TotalNumbers: ————— i
m Mal‘@ Median 4 |16
N&'-.n{' {0 C)QPIUL'f o 2 Me_aﬁ_t#-ff'_?_iﬂge}
Some _(‘ Max 32 l60625
g o - )
) Median:
/ I]].E.'Hn(ﬂ) &L\‘E np:ilj !_r:4.+4}f2 .
5 6.00625
l{ ) I J\D&Uﬂ 5Lah=_'c1 IMndE-
total| a 2
or Lind ;
l =1 Rangﬂ
%wv G, !I'éu
Ascending Order-

5 il
i e



4. Problem Solve. The teacher says : "Double my age and add 5 and the
result is 115”". Determine the age of the teacher.

T ?
GLLESS ‘f c,lf\ecl'?-?, LGBLC i ﬂlc]{_L)v-s\_ .

Guess and Check

TEG.CLQP' Duu‘o\& Ndd S

S T 30 w& ByzT Want NS
K5O ? [ OO JD§ %E&tﬂ.‘n% r_lggcl
X 51 7 (0§ ¥5 = 123 P‘E-allLOclmt, -Wr)

cluse enw




4. Problem Solve. The teacher says : "Double my age and add 5 and the
result is 115". Determine the age of the teacher.

LGBLCT ﬂlﬁ{%k&?

2 How about a bit of logic and work backwards??

1E =5 = 1o undod  the add S
110 unohouble =) HO/:L-_@

@Aeck? -2+ &y = Ho+S = I
Ye_sl_ <SS wav kS l.
/A lqeby
’ 1; ¥5=1]IS

-5 =5 A fﬁel:)lr-& LS "C&u‘a.(%‘:f-
_9% = g e g Woy k:n:a bece v oords
3 B



5. Car Purchase. The car you chose costs $29,500 MSRP
(Manufacturer's Suggested Retail Price). You want the fancy stereo
system option for an extra $500. The car has to be shipped from Toronto
and incurs a freight charge of $750. There is an ecology ‘fee’ (excise tax)
of $100 on its air conditioner. You have a trade-in that is worth $3,500.

a. Determine the final dealer price of your car with the options and

freight and ecology ‘fee’ and allowing for the trade-in. J_}J‘gs‘

b. Calculate the final price ofthe car with the retail taxes included.

(7% PST and 5% GST(?20 €3

otions, etc - Trad
& decler warts

o in)" tax facto!

. icle Price = .
P Vehyﬂ\: :éer oo fees, freight, 0

e (h
> 3
&) 9,500 + 500 +3S0 +loo ~3500 = 37,350
bu.{‘. oler-.|tr "\a.s {n Ca"&:'f- 'fAJLCS'p"'bh ws too to submet o %c.\f

h) Total we Py dealer ¢cs 3350 ° f.l'cl'-iBo,é,'Sl

if we were going thru a private seller we wouldpay the PST whenwe register the car. And btw, there is
no GSTonused vehicles (yet?)



5. Car Purchase. The car you chose costs $29,500 MSRP
(Manufacturer's Suggested Retail Price). You want the fancy stereo
system option for an extra $500. The car has to be shipped from Toronto
and incurs a freight charge of $750. There is an ecology ‘fee’ (excise tax)
of $100 on its air conditioner. You have a trade-in that is worth $3,500.

I price
: ;{gﬂgice of the car with the retail taxes included T4 pru.t-'(' d/ pﬁ‘]”"’{
7 STY3 0 €2 -9 00U
Ny B ] /7-) 10 632 9"!
— B — ]

ﬂ (c) You make the down payment of $2,000 and then take a loanon = 28 (v LoAw
the remainder at 8% for 5 years. Calculate your monthly payments ?
[use loan tables or an App, If you use an App give a hand-drawn
‘screenshot’ of your inputs and result].

£ Monthly Vehicle Loan Payments
a.a-aa' :18!6'3;- - S-%C)' %O@ per Thousand Borrowed
logu Years to Repay Loan
Interest
TVM Rate 1 2 3 a |“s\| s
Calculator {_d'f_s .:.10 4.00% | $85.15| $43.42| $29.52| $22.58| $18.42| $15.65
A 4.25% | $85.26| $43.54| $29.64| $22.69| $18.53| $15.76
A..,PS G-hOl 4.50% | $85.38] $43.65 $29.75| $22.80| $18.64] $15.87
Presentvalue | 28,632 I f 4.75% $85.49| 543.76| 529.B6| $22.92| 518.76| 515.99
| | 1 e ﬁl.w: 5.00% | $85.61| $43.87| $29.97| $23.03| $18.87| $16.10
Payments I—Sf_!ﬂ.ﬁfr) é_wﬂb‘i . S 5.25% $85.72| $43.98| $30.08| $23.14| $18.99| $16.22
é.j‘ e Same 5.50% | $85.84| $44.10| $30.20| $23.26| $19.10| $16.34
Future Value |0 f 5.75% $85.95| 544.21| $30.31| $23.37| $19.22| $16.46
Y - 6.00% $86.07| $44.32| $30.42| $23.49| $19.33| $16.57
e~ ahSbt . 6.50% | $86.30| $44.55| $30.65| $23.71] $19.57| $16.81
A bt more s 7.00% | $86.53| $44.77| $30.88| $23.95| $19.80| $17.05
Periods |60 " m ccwbetelvn Toa! $86.76| $45.00| $31.11| $24.18
: ’ S S ' 8.00% | $86.99| $45.23| $31.34| $24.41
gompounding | Monthly S pr— I [T T




6. Vehicle Depreciation.

If your car is originally worth $38,600 and

depreciates at 25% per year, determine the expected value of your car
after 10 years using the exponential decay of its value.

533)400 — AS5J of 3,600

year value

1

w0 ~N O U & W N

—_
=]

)

Wh W W W W WU W Wn W

38,600.00
28,950.00
21,712.50
16,284.38
12,213.28
9,159.96
6,869.97
5,152.48
3,864.36
2,898.27

18,600 — &/

38,600 ~ 9, GS‘O

T

depreciate

S
S
S
S
$
S
S
$
S
S

9,650.00
7,237.50
5,428.13
4,071.09
3,053.32
2,289.99
1,717.49
1,288.12

966.09

724.57

§

§
$
$
$
S
S
$
§
$

= a8,95%0

value end of year

28,950.00
21,712.50
16,284.38
12,213.28
9,159.96
6,869.97
5,152.48
3,864.36

898.27
2,173.70

« 3gGO0

The car .—QoSes 9,50 o0 value
htl'\e -pu‘r‘;‘t (jQﬁ-l"'

Bg{:{ep Way WSthg Cn
& 3

E,X U?Gilue_ uJC hEE’."iS
38 6000 38"

32600




Bonuses: (2 marks each)

A. If Alyssa gets an 85% mean on her entire math course her mom will
take her shopping for new winter boots! Presently Alyssa has test marks of

65%, 80%, 90%, and 55% on the first four tests an more test
remaining. All the test marks on the course ar ually weighted.
Determine the mark that Alyssa needs on her final (fifth) tes to go

shopping. [Hint: Guess and Check or maybe logic such as “algebra’]

— & 290

x_..___._-

/\_/V\
t Vv 657._, 807 + 907, +SS‘1.,+£0
Wbn 57 = + e

g, = @I0LERvg [~

= WRY WwiLl \
= = K .\ ®
-;%g% ?&O} t XA~ Ashe Go Skopps

% = 425 -280 7 Check, 6‘3*50+:u+ssm
She heed 1359,




(990 80)
TP ha ta o(ms'l

(2 C = 74 0{0 c._lqel')rf.k
—— jw:.‘t \'lEcp

. %MC"}SLh(.a
990 L\ . gel %5
990 130

= 84

(290 :_1135D
50— _ I35 worhs



B. determine how many seconds are equivalent to 15 days.

ISJZH&'%% : Gomi:

IJ 29 6)000 SecondS

egmf I’ED\Q,OS

, rm,\\ Coh
a9¢ th ousanok



C. Determine how many connections there would be if we make a single
connection between each and every one of these dots:

How about a Lovrmula n*ﬁ-!)ﬁ ,50/3_

[)oesSn'T eac h olat connect —

bher dots. 65 =3 |
to 5o eb::'}.: I‘\ﬁﬁs{' of € hem would ol(huf Cuuh‘[t:lp




